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For each of the following, find the vertex, focus, directrix, and end points of the
latus rectum. Also graph each parabola
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L (x=2) =8(y+1) g
o= ¢
Vertex: (z,-1 ) / o
, p= SeSESSEEE
Focus: (2,17 » | .
Directrix: Ve—5% L N I
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eoftr:. (-7,1) (&1)
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2. (y-2) =-16(x-3) led s
< Bo=-1¢ X
Vertex:_ (%, 7 ) ! L -
| n=-Y
Focus:__ (—\ 2 ) »
Directrix: x= 7
EoftR:_ (~1.10) (=1,-b6) ,
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3. (x—l) :l2(y—l) 0
e :\(
Vertex: (1, 1) o= 12
Focus: _' | U ) V=% » .
Directrix: /7~ £ K
Eof lR:_(—9,4)(3,4)
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4. (y-4) =8(x-1) o ik
4 THR ‘ 4 &
Vertex: (1, Y 7’??‘77;% 3
Focus: (9,4) v=7 B N
= n\
Directrix: X=—]
EoflR:_(2 07(%¢)
y




5. 2(x+2)2=12y — («'7\,\,7 Ve |

= by
Vertex: (’Z!rg:) L’u?, :
Focus: (- 2 .5 ) ;7: \/:l:%

7/
Directrix: V== 1.5
E of LR: (‘9‘,‘ L‘?) (1, },9)

6 y2+4(x+2):0__7 'ym: mLf(X%Z}

fef
Vertex: (- ‘Z} o :) L{ji [,i
Focus:__ (~% 0 ) 5/
- =l
Directrix: X = "]

E of LR: (’7}’; Z ){ ;ff) ~Z )

% y-5Y =0y —= % \L: 2

Vertex: (O/ %/

» Yl‘@tl/l)c
Focus:_ (1.7 L) Y ) l,Wcj,_
Directrix;_ X~ — .9V 7= .75

E of LR: (1«71;/. (o«‘;) (1 .’}l;‘,~ O«,ﬂ

8. y=%(x—3)2+5 — \/»\;’:T\f(x,,ﬂl

Vertex: /%/ 2 ) L{(\/“g) i";'é('%)zw

Focus: (%, b) X-2 7,1/'; I{/VJJ\

Directrix: Y — ly M;\

Eoftre__ (L6 )( 5 &) Up=1
7=
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